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Test Faper 1

Pari] Reading Comprehension  [(43%)

DMrections: There are 0 passapes I okis peet, Buck pussuge & folfowid by some
guestiont or unfinished starements. For each of them theve are four choices marked
A), B, U) and D). You thould dectds on the Bast chaice ahd mark I aorresponding

letter on the Answer Sheet with a simgle line through the centre,
Pussage One
(mestions 1 to 5 are based on the following passage.

Andrew Carnegie, known as the King of Steel, built the steel indusiry in the
United States, and in the process, became one of the wealthiest men in America, His
Wmmlﬂlﬂmwﬂmmnmwl
of expanding during periods of economic decling
restuing thelr invesumns.

Camegic believed that individuals should progress through hard work, but he
lao felt atrongly thot the wealthy should use their fortunes for the benefis of soolety.
He opposed charity, preferring instead to provide educational opportunities that would
allow others to help themselves. "He who dies nch, dies disgraced,” he often said,

Amuong his more noteworthy contributions to society ane those that bear his
names, incheding the Camegie Institule of Fiftshurgh, which has a library, a museum
of fine ariz, and a muscom of national history, He also founded a school of technology
that is now part of Camegie Mellon University. Other generous gifis he gave 1o
society are the Camegie Endowment for International Peace to promote understanding
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61. Doctor Smith can hardly find sufficient grounds his assumption in favor
of the new theory,
A which 1o buse on B. an whbch 1o base
. tax base on which D, which to be based on
62, S0 many students went 1o the campus doctor before the exam that there seemed 1o
be an of exam-itis.
A, epidemic B. expansion
C. extension D. longevity
bi. There seems to be a between the armval of the letter and his abrupt
depariure shortly afterwards.
Au combination B. connection
. integration D. expectancy
o, the spouts meeting in the weekemd, | would heve gone o Shoghai last
Raturday.
A Bk for B. In spite of
C. Because of D. As for
65, | don't mind the task as long as it is not 100 late,
A. him to delay finishing B. his delaying io finish
C. hiz delaying finishing D. him delay to make
6. Fuel taxes were reduced, industry from the effects of the rise in oil
prices.
A, shivering B, shieldimg
. shedding [, shifting
67. Tt 1= difficult for someone who's been a sigge aciress 1o make the
television '
A, qualification . inflation
C. opposition D. transition
A G&. Working abroad should be an exciting and experience for all
concerned.
A, positive B. irritable
., permiment . potential
69, Patients can usually move withou within a few weeks of the
operation,
A relief B. recommendation
(C. assistance L}, intermuption
T, The political in this coumniry is enforced by termor,
A turmmoil B. chsos
C. confusion L. repression

Part 111 Cloze  (59%)
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Directions: There gre [0 blanks in the following passage, You showld choose the
ONE that best fles imie the passage. Then mark the coveesponding letter on the Answer
Sheet with a single line through the cenire,

Teday the world's economy (s going through two great changes, both bigger than
in Asman finimcial crisis here or & European monetary unjon thene.

The first change is that a lot of industrial production is moving from the Unied
States, Western Europe and Japan to developing countries in Lotin Americs,
South-East Asia and Eastemn Europe, In E950, the United States alone 71 for more
than half of the world's economy ouipad. In 1990, i3 72  was down to a quarter,
By 1990, 40% of IBM's employees were non-Americans; Whirlpool, America’s
leading _ 73  of domestic appliances, cut its American labor force by 1%, Ouite
soon now, many big wesiern companies will have more _ 74 {and customers) in
poor countries than in rich ones,

The second great change is that, in the rich countries of the OBECD, the balance
of economie activity is swinging from manufacturing to_ 75 . In the United States
and Britain, the __ 76  of workers in manufacturing has _ 77 since 1900 from
around 40% w barely half et Even i Geéfmaoy and Japan, which rebudli so
many__ T8 after 1945, manufacturing’s share of jobs is now below 30%, The effect
ol the shifl is increased i§ manufscwring moves from rich countries 1© e developing
ones, whose cheap labor __ 79 them a sharp advantage in many of the__80 _ tagks
required by mass production,

71 A, accounted [, occupicd C. played 0. shaed
T2, AL output B. development  C. share D, ccomsmy
73. A. state B. consumer C. representative D supplicr
74, A, proclucts B. marke C. employees D, changes
75, A.producing B, products ) marvieing [, services
76, AL proportiocn B, number C. guantity I}, group

77. A. changed B. gone L, applied [}, shrunk
TR, A. armies B, weapons 7, factories . countries
79. A give B. is giving . gives [, gave

B0, A, various B. repetitive o, creative D, enarmons
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Test Paper 1

Part 1V 'I'ranskation  [10%)

Directions: /n this part. there are five sentences which you should franslate o
Chinese. These semiences are all taken from the Reading Passages you have just read
im Part £ You showld refer back o the passages 1o ax 1o identify their meanings in the
context. Pul your translations on the Answer Sheet.

81. (Passage One)

His success resulted in part from his abillity to sell the product and in part from his
policy of expanding during periods of economic decline, when most of his
competitors were reducing their investmeents.

B2 (Passuge Two)

When & man works it is a matter of life and death, and as a rule, the first years of his
life are decisive. Any man of twenty-five who is not well on his way up the ladder can
be considered a hopeless case.

83. (Passage Three)

Combining this research with work previously done by Professor Peter McDonald on
foregone earnings-—--- which were estimated for the period at $570,000--— the
astonishing total of ¥ 700,000 iz reached .

B4, (Passage Five)

If you are expecied to sell ten tickets 1o a dance, for example, and sell fifteen, vou
have proved Your inferest and ynar e tn ranke yonr q;wﬁ;.ﬁ_q“ auceweEll,

85, (Passage Six)

Ag a gunéral rule, a large family constituted o surc guarantce that ome woubl e
supported emationally and financially in one’s old age.

Part V. Short Answer Questions  {10%)

Directions: /n this part there Is a short passage with five questions or incomplere
statements. Read the passage corefilly. Then answer the guestions or complete the
starements in the fewest possible words ynot exceeding 10 words). Write your anowers
ot fhe Amswer Sheed,

Elizabeth Hazen and Rachel Brown co-patented one of the most widely
accladied wounder drugs ol e post-Secomd World War vears. Hazen and Brown's
work was stimulated by the war time need 1o find o cure for the fungus infections that
affileted many millary persodiel. Séieniists had been feverishly scarching for an
antibiotic toxic enough 1o kill the fungi but safe enough for a human use, since,
unformunately, the new “wonder drugs”™ such as penicillin and streptomyvein killed the
very bacteria in the body that controlled the fungi. It was to discover a fungicide
without that double effect that Brown of New York State’s Department of Health
Laboratories at Albany, and Hazen, senior microbiologist at the Department of Health
in New York, began their long-distance collaboration. Based upon Hazen's previous
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fungus cultures, both were convinced that an anti-fungl organism already existed in
certain soils.

They divided the work, Hazen methodically screened and cultured scores of soil
samples, which she then senl to0 her partner, who prepared extracts, isolated and
purified active agents, and shipped them back o Mew York, where Hazen could study
their biological properties. On a 1948 vacation, Hazen foruitously collected a clump
of soil from the edige of W.B. Nourse’s cow pasture in Fauguier County, Virginia, that
whistt tegted, revaaled the presence of the micronrganiasma. In farm camer Mioree's
bonor, Hazen mamed it Streptomyces noursei and within a year the two scientisis
ke that the properties of their rubstance distinguiched it from previously deseribed
antibiotics. After further research they eveniually reduced their substance to a fine,
yellow powder, which they first named “fungiciden”, then remamed “nystatin™ (1o
honor the Mew York State Laboratory) when they leamed the previois hname was
already in wse, OF their major discovery, Brown said lightly thar it simply illustrated
“how unpredictable consequences can come from mither modest beginnings”™.

86, What is the main idea of the passage?

T = = T |5 —eam o

87, What is o fungicide?

= &8. How does nystatin differ from other drugs like penicillin?

—— —

59, Whnt did Rachel Brown mean by saying “how unprediciable consequences can
come from rather modest beginnings™ 7

. The reason for the author to mention W_B. Mourrse i3 that ,
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Part VI Writing  (10%)
Directions: For this part, you are aliowed 30 minites fo write a contpasition an ihe
pic My View on Womiéi's Rides i the Modern Society. You showuld write ar least
130 words and yow should base your composition on the outline {given in Chinese)
below. Write your composition on the Answer Sheet,
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download.kaoyan.com  between natians, the Carnegie Institute of Washington to fund scientific reseanch, and
Carnegie Hall to provide & center for the arts.

Few Americans have been left untouched by Andrew Carnegie’s penerosity. His
contributions of more than five milléon dollars established 2,500 Hbraries in small
communities throughout the country and formed the nucleus of the public library
sysiem lml we all enjuy bolay,

1. Andrew Camegie made his fortunes in |

A, invesiments B, education C, steel industry D). expansion
2. According 0 Andrew Carnegie, the wealthy are obliged 10

A, donate money 0 society

B, provide education opportunities 1o the needy

C. built scientific research centers

. offer gencrous gifts 1o socicty
3. Which of the following statensents is true?

A, Unly some of his coniributions wers named after him,
B. All of his noteworthy contributions to society bear his names,
C. Bome of the schoals e fsombed mve beeome aniversides,
. All of his contributions are noteworthy,
4, “He who dies rich, dies disgraced™ in Line 4, Para. 2 means
A, awealthy man will always die in disgrace
B. wealth will bring disgrace to m man when he dics.
C. an affluent man will die in sheme unless he has contributed to society
D. ifa man gets rich when he dies, be will be put 10 shame
5. Yirtually all Americans have 5
A, benefited from Andrew Camegie™ contributions
B. been deeply moved by his generosity
C. pained scoess to small community libranes

D. formad the nucleus of the pobitls library sysiem
Passage Two
t]'lmli.&u 6 to 10 are hH-Hl on the ltlllnrilg [ELETL N

an b sred 4 hopeless -Mthﬂmﬂlhhmﬂﬁﬂmb&rmdmtm
md:b:ﬁgm ur:lh hmwﬂﬂaal@ﬂhﬂtm Behind a mask of business
friendship, he is constantly on the watch for any sign of superiority in one of his
associates, and he will note its appearance with anxiety, 11 this same associate shows
gigns of weakness or indecision, it must be taken advaninge of at once. Yet man is
only a tiny cog in a gigantic business 'machine, he himself being in effect exploited at
every tum. When he drives others, he drives himself most of all. l-]isurdersmma-]ly
orders from above, passed on by him_ If the men at the top occasionally take time o
praise lim, it is not in order to make him happy; it is only o spur him on, to stimulate
him 1o greater effort. For man, who was brought up to be proud and honorable, every
working day is merely an endless series of humilistions. He shows enthusiasm for
products he finds useless, he laughs at jokes be finds tasteless, he expresses opinions
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download.kaoyan.com which are not his own. Not for o moment is he allowed to forget that the merest
aversight may mean damotion, thet one slip of the tongue may spell the end of his

caneer.
6. When man finds his colleague better than he is, be will feel :
A, happy B. worrad
C. indifferent T, despernie
7. Although men are taught o be prowd and bonorable. their work gives them nothing
bt ’
A oo R enmplimenis
C. praises D. humiliations

8. Which of the following staternents is troe?
A, Men's bosses may take me to praise him only in order to make greater profits
oul of him.
B, Men have enthusiasm for their work.
. Men eherigh their frlendship with teir workmanss.
D It gimply does not matter if men happen o say the wrong thing while working.
4. Which of the following is closest in meaning 10 the word “demotion™ in the lass
seqence?
A. promotion B. moveitent C, destruction . downgrading
10. Which of the following may be the most suitable title for this passage?
A. Men's Mask at Work.
B. Men Are Exploited Everywhere.
C. Work Is a Matter of Life and Death for Men.
N Men®s Ralatwmships with His Assaclates and Superiors.
Passage Three
Questions 11 te 15 are based en the following passage.

Ausimakia’s fertility rae is now |8 per cel. This is well below replacement lewel,
g foct winch is begluning o cavse somec alarm among social policy expems,
particularly those who recognize the link between population growth and the
sustainability of social welfare policies which are funded by wxation.

Augtralian women are now less likely to marry and far less likely o have
children. The Australian Bureau of Statistics reported last year that 27 per cenl of
women would now not give birth ot all, And if women do kave children, the number
of births will be fewer than w1 any other stage in history. Many more adults than ever
before are now living alone.

Opinions diffier as 1o why this is the case. Two recent reports offer some clues.
The social Policy Rescarch Center ot the University of New South Wales has just
released its report, which took over two years io complete and is a national first.
Among other things, it showed that Australia®s welfare budget of $ 42 billion fails to
provide basic living standards for some of the poorest families.
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M the birth rate and the death rte go hand in hond
B, the birth rate and the death rate are out of balasce
C. the birth meto 12 rising
[, the population grows with the sustainability of social welfare policies
12. Ome of the reasons for the current Australia’s fertility rate is
A woman do not wanl to have babias
B. women can't find their Mr, Right
C. women dislike children
[, child-rearing is inexpensive
13, When it cames to why the birth rate has dropped, :
A, there is a consensus on it
B. then: is a controversy suntunﬂini it
€. nothing has been found so far
I, only the poor women refuse t give birth 1o babies
14. Which of the following statemenis is true?
A. Lintle Is known about the cause of the drogs in the Fertility rate.
B. Much research has been conducted on the present birth rate.
C. The drop in the birth rate is a political issue. ;
D. Reporiz on the faciors contributing to the cusrent fertility rate are rare.
15, Whar is chiefly responsible for the drop in the birth rae?
A Women refuse to have babies,
B. Man has & longer life span.
C. Childrearing is an expensive matter.
0. Something is wrong with the secial welfare policies,
Pussuge Four
Qestions 16 to 20 are hased an the following preenge.

Afier practicing as a surgeon for several years, Dr. Johnson decided to apply for
membership in the Americon College of Surgeons, a highly selective and
distinguished professional organization.

As part of the application procedure, Dir. Johnson was asked (o prepare a hist of
all the operations performed in the previous seven years, Slowly, as she worked on the
long list, she began 10 feel uncertain. She began 1o question some of her decisions.
Had she used the best technique in that caze? Maybe, in this case, she would have run
one more test before the operntion? On the other hand, maybe she would
have.. Would the doctors on the selection committee understand that, as the omly
trained surgeon in the area, she usually could not get advice from others and therefore,
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downl oad kaoyan.conhad 1o rely completely on her own judgment? For the first time, Dr. Johnson felt
lonely and isolated.

The longer Dr. Johnson worked on the application forms, the more depressed she
became. As hope faded, she wondered if a “country doctor™ had o realistic chance of
being accepted by the American College of Surgeans.,

16. Where did Dr. Johnson work?,

A, A large city,

B. The American College of Surgeons.

. An area far from any big city.

D. A selective organization.

17. What mast the application forms include?

A, A record of all the speratioga.

0. The decision procesiure,

C. The best technique.

D. A list of advice and judgments,

18. It was most probable that Dr. Johnson was

A o well trained surgean

B. o member in thal organization

C. a distinguished surgeon in America

D. a graduate from the American College of Surgeons
19, When she was filling the application forms, Dr. Johnson began wobe

A, realistic B. distimguished

C. perplexed D, deci=ive
20, When filling the forms, Dr. Johnson felt depressed becouse

A, she didn't perform enough operations

B. some operations were unsuccessiul

C. she didn't get advice from the selective committee

D. she was doubtiul about her operations
Passage Five
Questions 21 to 25 are based on the following passage,

The qualities of leadership are almost constant the world over. If you would like
to become presidemt of your class, school, or student council, you must first
demonstrate that you have the poteniials of leadership.

For one thing, you must show that vou are imterested in your school and m your
fellow studenis. In practical terms, this means taking an active part in school activities.
It mentié joining clubs, anending dances and other soedsl functions, and going oul e
athletics — if you are athletic.

If wou consciously sirive W oveicoie slyieess by going out to meet poople, you
will find yourself at the same time developing another quality of leadership-
understanding. As your circle of friends and contacts widens you will get to know
your schoolmates better. Because you are no longer so concerned with your own
feelings, you will begin to respect and take into aceount the feelings of others.

.qmrmﬁ qmlrr_r nf]ud:mlup which y«nu i deﬂ-einp is mlh:watn do a hit
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fellow students will be willing to trust you with greater responsibilities,
21. What is the passage chiefly concerned with?
A, How a person can develop qualities of leadership.
B. Various ways a good leader can make friends and influence people.
C. The responsibilities of leadership.
D. Why many people are not good leaders,
23 The author feels that a prospective leader should attend school dances
Lo ;
A, prove that he 15 the besf dancer in the school

B. show his interest in school activities

C. overcome his shyness

0. learn how 10 dance
23. The author apparently feels that a person who is not athletic

A, should go out for athletics anyway

0. s definitely ot interested in school clecticns

C. has no chance of becoming o leader

0. con participate in other sehool activities
24, According to the suthor, what does understending of others lead to?

A Ragpict for othare,

B. Willingness to do & bit extra,

C. Orercoming one’s shyness.

. Understanding of one’s own feelings,

25, The author feels that

A. 8 person is born with imagination

B, imagination can be developed

C. some peopls have no imagination

D, imagination prevents one from thinking hard
Fassage Six
Duestions 26 te 30 are based on the fellowing passage.

When a population ages, there is 8 decrease in the relative percentage of younger
peopie. In human terms, this means thal there are fewer children to ke care of
parerts and grandparents. This increases the risk of social and ermotional isolation of
elder adults in a society, Under normal circumstances, an elderly couple who have
anywhere between four fo twelve children will never suffer from loncliness. As a
general role, a large family constivmed o sure guarantee that one would be supported
emotionally and financially in onc's old age In rural communities throughouwt the
world, this meant that three generations of the same family would mevitably live
unider the same roof or very close to each other. Drops in birth rates apnd economdc
circumstances (both opulence and poverty) have already placed this way of life in
jeopardy in many parts of the world. By 1995 in Canada, only 12 % of Canadian
seniors lived with their children as pari of an exiended family. Even in urban Chinsa,
where housing conditions and the centuries-old adage “MNever travel far from your old
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download.kaoyan.com  parents” have kept the family unit much tighter, more elderly couples are living on
thiir own.
26, What does the senfence “there is a decrease in the relative percentage of younger
people © in Line 1 mean?
A, The number of young people has deogped.
B. The nomber of voung people has increased.
C. The ratio of the old and the young has changed.
I The percentage of abder adults has risen.
27. Aging population tends to giveniseto
A, emotional problems
B. economis problems
. socinl problems
D. isolation of the older adulis in a varicty of ways
28, It s staded i e passage thist
A, extended familias used 1 be common place in Canadn
B. largs familiss prevall in 30me pars of the woeld
C. people in the country ncross the world used to have three generations live
together or close to each other
0. the more children old people have, the less likely they are to live alone
29, It can be safely conclubed that
A, many more older adults in cities live with their children in China than
elsewhere
B. more seniors live in an extended family thon elsewhere
. Chinese tuke the best care of thelr parents in the world
=¥ 0. the problem of the obd is merely regional
30. The maost suitable title for this passage is :
A, Longliness of the O1d and Aging Populstions
B. The Drop in the Binh Rate
. The €04 in the Urbon Arcas
B. The O1d in the Fural Areas
FPart 11 Vorabubairy smd Strueture (207%%)
Directions: There are 40 incomplete seniences in this pari. For cach sentence there
ame ol chodces marked A), Bl C) and D). Chagese the OME angwer thal bési
completes the sentance, Then mark the eorrazponding |atier on the Answer Shast with
n single ling through dw centre.
31, Without proper lessons, vou could _ a lot of bad habits when playing the

pizm,
A, keep up B. pick up
. drawr up 0. eateh up
32 The man was ____ one meter filly high.
A almest more than B, hordly mors than
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33, I don't need o say how imporiant this praject is.

A, Originally B. Favorably
C. Obwiously 3. Constantly
34, The judge believed that Paul, for some reasen, had the truth.
A, kept up B. kept from
C. left off . held back
35. The concert hall was not big encugh and the medience it i the
street.
A. poured B. approached
C. overflowed . confined
6. The infection seriously the haby's health.
A. damaged B. recovered
C. underwent D, undermined
37. Wha the ald man said always i miind.
A, concentrates on B. focuses
C. dhweeldls in . Inolis im
38. Don't carry your griel EXCEEE.
A in B. towards C, bevond 0, o
39. After a few rounds of talks, both sides regarded the termitory dispute :
AL being setiled B. 10 be setled
. hod settled D. 8= settbed
4. How o build up health is an isse of inteseat
A, umiversal B. common sense
C. greater D. litile
41. He was openly  of his elder brother.
A, angry B. scorn
C, confempluous [}, contemptible
42, What they have been doing is inconsistent the governments domestic
policy.
A within B. with C.on D, to
43. There iz o group in the party symipathetic OUF gdms.
A for B. in C. to 0. with
44, Mountamn villages are completely in winter,
A. isolating B. coldly
. covering D. inncoessibls
45, This commission is surely subordinate the Security Council.
A rwands . Lrelirw C. benenth D. i
46, A love marvlage, however, does tol fecessarily much sharing of interests
and responsibilitics.
A take over B. result in
C. hokd on D. keep io
47, Our son doesn’t know what to al the university; he can’t make up his
ervbrd abot his futuse.
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A, take in B, take up
C. take over D take off
48, a3 a kind of art form, toys are nol characierized by technological progress,
A, Regarded B, Regarding
C. With regurd D. Considered
49, The products made in this couniry are inferior those in that country,
A, than B. 1o L, over I3, below
50, Most students try their best to the expectations of their parents.
A, dwell on B. live throwgh
C. live on D. live up to
51. Having a fever, the gid was to the house for 3 days.
A, confined B, adjusted
. etnharrased 0. closed
52. He has an amazing __ of inferests and rch experience.
A various B varied
 diversity D distinet
53. The student reviewed her homework carefully to all the spelling mistakes
From it
A, withdraw B. diminish
. abandon . eliminate
54, The prospect of working under a woman the ultimate indignity,
A, constituted B. got
C. considered D, led
55, Besutiful wsomen am T tin e ru-nj-wlir.ut wihisn hunlirﬂ fie @
managerial post.
A, for B. apainz . Ini favor D,
56. | apprecinted the opportunity to work in Japan three vears ago,
A, having been given B. having given
C. to have given [». to have been given
57, Compact discs at high speed in order to reduce spund distortion,
A, TEverse B. reserve
C, mevalve 0. resolve

58. Ann eccepted the instructos’s advice to spend more time on something
researching indo,

A. worth B. precious
. worthy D. waluable
59 The refugees, all hid heen damaged by the war, were given help by the
Red Croas.
A, their homes B. whose homes
. of whose homes D. of their homes
60. He caught a timber rattlesnake, which is now extinct in two eastern stales in which
it once :
A Uarived . swelbed
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